KARNATAKA VETERINARY, ANIMAL AND FISHERIES SCIENCES UNIVERSITY, BIDAR **COLLEGE OF FISHERIES, MANGALURU-575002**

No.FCM/EB/2020-21

Date: 02.12.2020

QUOTATION ENQUIRY

Sub: Quotation towards the Repair of damaged roof Ceiling, Kitchen platform & providing Ceramic tiles to Toilets of F-Type and D-Type Quarters at College of Fisheries, Mangaluru-reg.

With reference to the above cited subject, sealed quotations are invited for following work. The quotations should reach the undersigned on or before 10.12.2020.

Please refer Schedule B page for detailed work description.

Note:

- 1. Quotations received after last date and having description of the materials incomplete will not be entertained.
- 2. Quotations should be raised in favour of "Dean, College of Fisheries, Mangaluru"
- 3. Write compulsory reference number and quotations last date on sealed covers.
- 4. Rates should be quoted in Indian currency per unit.
- 5. Details of tax etc. should be mentioned separately.
- 6. GST/ PAN/ TIN numbers should be mentioned in the quotation.
- 7. Lowest quotation rate would be accepted.
- 8. The total amount for all the above items will considered for calculation and placing order is subject to meeting all the above conditions.

Yours Faithfully,

Copy to:

1) Notice Board, College of Fisheries, Mangaluru

2) Notice Board, Technology wing, Hoige Bazar

3) Assistant Comptroller, COF, Mangaluru for kind information

4) College Website: www.cofm.edu.in

Schedule - B

Name of work: Repair of damaged roof Ceiling, Kitchen platform & providing Ceramic tiles to Toilets of F-Type and D-Type Quarters at College of

Fisheries, Mangaluru

Amount of Estimate: Rs. 95900.00

Name of Contractor : Notification No.:

Last date for submission:

Total Number of Items: 13 (Thirteen only)

SI. No	Particulars	Qty	Unit	Rate as per SR	Amount	Rate quoted by contractor in figures and words	Amount
1	Providing RCC loft (atta) 7.5cms thick with cement concrete design mix M20 using clean granite or trap jelly of 20mm and down size with necessary reinforcements at 20cms centre to centre as per design including form work, centring, curing, etc., complete (exclusive of cost of steel and fabrication charges).	71.90	Sqm	563.02	40481.14		
2	Dismantling of existing structures like culverts,bridges, retaining walls and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts complete as per specifications. i) Lime /Cement Concrete. I. By Manual Means: B. Cement Concrete Grade M-15 & M-20.	0.84	Cum	686.22	576.42		

3	Providing and constructing load bearing wall with solid concrete blocks having block density not less than 1800kg/m3 having a minimum average compressive strength of 4.00 N/mm2 confirming to IS 2185 (Part 1):2005 and constructed with CM 1:4, as per IS 2572:2005 including cost of all materials labour charges, scaffolding, curing, hire charges of machineries etc., complete as per specifications with solid concrete blocks of size 400x150x200mm	0.72	Sqm	1140.83	821.40	
4	Providing and fixing white glazed fire clay kitchen sink with M.S / C.I brackets, C.P brass chain with rubber plug, 32 mm C.P. brass waste, tap with union, brass stop cock complete, painting of fittings and brackets, cutting and making good the wall and floor wherever required, including cost of materials, labour complete as per specifications.of size 600 x 450 x 250 mm	1.00	Nos	4303.38	4303.38	
5	Providing and fixing chorinated poly vinyl Chloride (CPVC) pipes conforming to IS 15778, having thermal stability for hot and cold water supply including all CPVC plain and brass threaded fittings including fixing the pipe with clamp at 1.00 mtr spacing. This includes jointing of pipes and fittings with one step CPVC solvent cement and testing of joints complete. (internal work exposed on wall)20mm nominal OD pipes	50.00	Rmt	193.42	9671.00	
6	Providing and fixing CI Nahani trap of approved make conforming to ISI specifications and construction of Cistern in M-15 as per directions (Rate is inclusive of cost of materials and fixtures and conveyance of materials to work spot).10cms x 7.5cms	5.00	Nos	308.00	1540.00	

	Providing Ceramic tiles of approved make, shade and size for flooring, treads of steps and landings laid on a bed of 12mm thick, cement mortar 1:3 mix, flush pointing with white cement using colour pigment, including cost of materials, labour, curing, complete as per specifications. for Ceramic Tiles of size 30x30cms 6mm thick	10.40	Sqm	1491.95	15516.28	
8	Providing flooring with 20 mm thick polished Cadapa slabs using cement mortar 1:6, 25 mm thick over existing cement concrete bed or top of roof laid to line and level and jointed with cement slurry mixed with pigment to match the shade of the slab, including cost of materials, labour, curing, polishing complete as per specifications.	3.60	Sqm	1589.28	5721.41	
9	Providing and fixing white vitreous china clay, water closet Orissa pattern of size 580 x 440mm with integral type footrests, 100mm S or P trap, 10 litre low level, P.V.C flushing cistern (all are approved make) with fittings, C.I / M.S brackets, 32mm diameter flush pipe fittings and clamps, overflow arrangements with special and 25mm mosquito proof coupling of approved design, painting of fittings and brackets, cutting and making good the wall and floor wherever required, including cost of materials, labour complete as per specifications.	1.00	Each	5210.13	5210.13	
10	Providing and fixing in position brass bib cock of approved quality nominal bore including cost of all materials, labour and HOM with all leads complete as per specifications.20 mm dia nominal bore	10.00	Each	213.14	2131.40	
11	Providing and fixing in position chromium plated brass shower rose with 15 or 20mm inlet including cost of all materials, labour and HOM with all leads complete as per specifications.150 mm dia	3.00	Each	924.00	2772.00	

*

	Providing and applying painting in two coats with plastic emulsion paint of approved brand on wall surface to give an even approved shade after thoroughly brushing the surface, free from mortar drops and other foreign matter including preparing the surface even and sand paper smooth, cost of materials, labour, complete as per specifications.with primer	32.90	Sqm	110.88	3647.95	
13	Providing and laying in position plain cement concrete of Mix 1:3:6 with OPC @ 220kgs, with 40mm and down size graded granite metal coarse aggregates @0.892cum and fine aggregates @ 0.465cum machine mixed, machine mixed, concrete laid in layers not exceeding 15 cms. thick, well compacted, in foundation including cost of all materials, labour, HOM curing complete as per specifications.	0.45	Cum	6916.45	3112.40	

Total Amount Rs. 95504.91

No.of corrections ()		
No.of overwriting ()	Signature of Contractor	Professor and Head